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Gifted students examination
I-Test:
Question 1: What is the combination of the characteristic of a body called?
Answer : …………….

Question 2: To determine the  purity of the breed . What should we carry out crossing       

breeds ?

Answer :…………… 
Question 3: Which peiod of the cell does the self -doubling of chromesomes happen?
Answer :……………………..

Question 4: What is the combination of two sex cells forming a zygote called ?
Answer :………………………
Question 5: What is the phenemenon of genes definining the characteristics which are         located on the classified chromosome together on the process of the cell devision called ?

Answer :…………………
Question 6: What is the ARN type that has function to convey genetic informayion called?

Answer :………………….
Question 7: What is the largest consequence of the chromosome multation?

Answer :…………………
Question 8: What is the variation in phenotype arising  in the life of individuals under the direct influence from the enviroment called ? 
Answer :……………………
Question 9: Which main  structure rank can protein perform its function ?
Answer :………………..
Question 10 : Dwarf , bowed neck , bulging cheeks, slightly open mouth, slightly tongue , slightly deep eyes and an eye lid etc... Which desease has these symtoms ? 
Answer :…………………

Question 11:
The NST 2n of the Drosophila is  2n=8.
How many single chromosomes are there in the anaphase period mitosis.
 Answer : ……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………............................................................
Answer key

I-Test:
Question 1: Phenotip.

Question 2: Cross - bred analysis 

Question 3: The middle period.

Question 4: Fertilization.

Question 5: Gennetic link.

Question 6: ARN information.

Question 7:Delitions.

Question 8: Flunctuation.

Question 9: Stucture rank 3 and 4.

Question 10:Down.

Question 11 :
In the  anaphase  period , each doubling chromosome will be devided in centromere,  two single  chromosomes go into two 2 polos of the cells .

Therefore : The number of single choromosomes is  2(2n) =16

                    The number of centromeres is  2(2n) =16

